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SECTIONA Core 508
Data analysis Q15 The deseasonalised mean rainfall = m =71.26
T 1231451617 870910 0.
B D C C E D A D D A
1 2] B3 [1]15]16] 17 18] 19 ] 20 %increa86=%xl00%z35% D
E B E C D D B C A D '
Recursion and financial modelling Q16 The long-term mean for December = 1.072 %81.1=764 D
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A C C D B E B C B B
92.6

SECTION B Q17 The deseasonalised mean rainfall= —— = 75.8 B
Module 1: Matrices 1.222
1 2 3 4 5 6 7 8 9 10

A E D C D B B E B E Q18 Six-mean smoothed monthly rainfall for August
Module 2: Networks and decision mathematics = 1(92'6 +TT24- 4552 + 77.2+80.0+--+ 97'3] =813 C
1 | 2] 3] 45761 7187 910 2 6 6
D D B C D E C E C A
Q19 A

Module 3: Geometry and measurement
1 2 3 4 5 6 7 8 9 10

E|B|C|B|D|C|EBEJ|]C|E]C Q20 2160000 _ 135600 D
Module 4: Graphs and relations 3
1 2 3 4 5 6 7 8 9 10
C D E B B A C A C E

Recursion and financial modelling

Q21 7,=T7,+3=10+3=13 A
SECTIONA  Core
Data analysis Q22 V,, =2480+45(n+1)=2480+45n+45=V, +45 C
Q1 220-150=70 B

Q23 2™ and 3™ C
Q2 300=0,, 25% %800 =200 D

Q24 Interest =1.0048° x3000—3000 = 72.69 dollars D

3 U f =300+1.5%(300—-70) =645 C
Q3 Upper fence ( ) 25 B
Q4 c Q26 E
Q5 log,,10000 =4, percentage = %XIOO% =85% E Q27 10000x1.055" =~20057.74 B
Q6 Segments for below average, average and above average D 028 K . 1008 26]26 ) 1:|x 1009 — 8 3154% = 32 a
X
Q7 Number of wings A
3

Q8 57=61-2x2=u—-20, 2.5%x10000 = 250 D Q29 45000){1—%) —30000x0.15=26166.24
QY9 u=670, 0 =670-655=15 D k=12 B
Q10 A 32 120 28 120

Q30 A(l +— ) +10000 (1 +— ] =686904.09

91 100x12 100x12
Ql1 percentage=ﬁx100%=56.5% E A =$370000 B
12

Q12 percentagezﬁxloo% =17.1% B
Q13 E
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SECTION B Module 3: Geometry and measurement

Module 1: Matrices Ql |
Q1 A Q2 Ex2x1.5=1.5
Q2 g, =4x2+5%x4 E Q3 V257 _15° =20
1. 00 00 Q4
01000 ,
Q3 P'=0 01 00 D Q5 80%xmx16" =643
00010 Q6
00001 Q7 24420 7x6400~10388
Q4 C
Qs Q8 6x6+6x8+2(%x6x8j+6xx/62+82=192
Q6 B Q9 Diameter: w:m=1:1.25=4:5

Total surface area: w:m=4%:5>=16:25

_ [085 035 ‘f0.407 [0.68 b
0.15 0.65|]0.60| |0.32 Q10 TA=+170" —80*> =150; TB =+/234*> —80° = 220
| |
Q8 CTis 4x3: (A"xB) is 3x4 . C"x(a"xB) is 4x4 B
Q9 For Brie winning, the sum of one-step and two-step
dominances is 9, it is the highest.
QI0 j=04,m=05,1=06,n=0.1.1l=m+n
ZTBA=142-105=37°.Let x=AB
Module 2: Networks and decision mathematics 150% = x” +220% —2(220)xcos37°, x =246
Ql 7+f=9+2 D Module 4: Graphs and relations
Q2 D Ql
Q3 B Q2
Q4 C Q3
Q5 x=53—-(7+6+5+8+7+5+6)=9 D Xy
Q4 —+==1.4x+5y=40
Q6 7+4+3+3+5=22 E 10 8
Q7 Bipartite and planar C Q5 n=2,30=k4>, k= %
Q8 E
Q9 Cuts B, C and D have a capacity equal to the maximum Q6 200%27- (420 +200x 15) =1980
Cut E has a capacity of 38 but maximum flow of 33. C Q7 38.70+0.025n=169.90, n=5248, =0 175
Q10 A
Q8 i < 2 , y2 éx
y 5 2
Q9 80—[20+w]= 35
32
Q10 LineBC: y=-2x+14
Z=bx+4.5y, y=—ix+£, —i<—2, 2 b>9
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